- ®
Elv Kompakt /| Compact electric heater Pﬂhlen ﬂ

swimming pool equipment

B .a"

e

Item no. 139VXYZZ & 139VXYZZT

V | Heating element
6 = 690V
7 = 440V
8 =400V (230V)
9 =415V

X | Quter implements
1 = Flow switch

2 = Pressure switch

Y | Inner implements
1 = Unipolar thermostat 0—45°C

2 = Unipolar thermostat 0—45°C + Tripolar overheating limit control 60°C
3 = Unipolar overheating limic control 60°C

4 = Unipolar thermostat 0—45°C + Unipolar overheating limit control 60°C
5 = Tripolar overheating limic control 60°C

6 = Tripolar thermostat (6—85°C)

77 | kW

T | Titanium chassi, Nictech heating element

RL45-06 2020
12



Elv kompakt /| Compact electric heater , ©
Pahlén

Reservdelar / Spare parts
I S\Vimming pool equipment

Beskrivning Description Item No.

Utbytespatron Exchange heating element

Packning Gasket

Eastkit inre: Inner mounting kit:

O-ring O-ring

Fastring Fixing ring
A Skruv M4x12 Screw M4x12 se nedan / see below

Skruv M4x40 Screw M4x40

Distans Spacer

Jordbleck Earth connection

Fyrkantsbricka Square washer

Fjaderbricka Washer

Mutter, 2st Nut 2pcs
“ 3kW 400/230V Incoloy 3kW 400/230V Incoloy 632200
“ 6kW 400/230V Incoloy 6kW 400/230V Incoloy 632201
“ 9kW 400/230V Incoloy 9kW 400/230V Incoloy 632202
“ 12kW 400/230V Incoloy 12kW 400/230V Incoloy 632203
“ 15kW 400/230V Incoloy 15kW 400/230V Incoloy 632204
“ 18kW 400/230V Incoloy 18kW 400/230V Incoloy 632205
“ 3kW 400/230V Nictech 3kW 400/230V Nictech 632210
“ 6kW 400/230V Nictech 6kW 400/230V Nictech 632211
“ 9kW 400/230V Nictech 9kW 400/230V Nictech 632212
“ 12kW 400/230V Nictech 12kW 400/230V Nictech 632213
“ 15kW 400/230V Nictech 15kW 400/230V Nictech 632214
“ 18kW 400/230V Nictech 18kW 400/230V Nictech 632215

Vaggfaste, 2st Wall bracket, 2pcs
2 Fastband, 2st Mounting straps, 2pcs SRz
c FIersvakt Floyv switch 12870

O-ring O-ring

19 1/

D PIu_gg PVC Plug PVC 2 632206

O-ring O-ring
E Plugg 1/8 Plug 1/8 632207

O-ring O-ring

Pressostat Pressure switch
F Kapa Casing 12856

Flatstiftshylsa, 2st Receptacle, 2pcs

Kopplingsbox plast Terminal box plastic

Terminalbox Housing

Kabelférskruvningar, 2st Grommets, 2pcs
G Kontramuttrar, 2st Nuts, 2pcs 147010

Fastkit inre Inner mounting kit

Lock Lid

Skruvar till locket, 2st Scews for the lid, 2pcs
H Termostat 1pol 0—45°C, komplett Thermostat 1p 0—45°C, complete se nedan/see below
“ fér véarmare med serienr t.o.m. 1944XXXX For heater up to and including serial no. 1944XXXX 632002
« fér véarmare med serienr fr.o.m. 1950XXXX For heater with serial no. from 1950XXXX 632009
| Overhettningsskydd 3pol 60°C Overheating limit control 3p 60°C 632003
J Overhettningsskydd 1pol 60°C Overheating limit control 1p 60°C se nedan/see below
“ for vérmare med serienr t.o.m. 1944XXXX For heater up to and including serial no. 1944XXXX 632001
« fér véarmare med serienr fr.o.m. 1950XXXX For heater with serial no. from 1950XXXX 632008
K Termostat 3-pol 6-85°C, komplett Thermostat 3p 6-85°C, complete 632004

Adapter 272"-2” (elpatron) Adapter 272"°-2” (heating element)
L O-ring O-ring 127140

Packning Gasket

RL45-06 2020
2/3




KoMnakTHbIX 3neKTpoHarpesarersnb
3anacHbie yacTm

I —— s\w/imming pool equipment

Pahlén 2

@

OnucaHue Ne apr.

HarpeBaTenbHbIn anemeHT

Mpoknaaka

Komnekt BHYTpU KOpOBKM:

KonbueobpasHoe ynnoTHeHne

BHyTpeHHee KombLOo KPOHLUTENHA
A BUHT M4x12 (cm. Hmxe)

BuHT M4x40

Mpoknaaka

3asemneHve

LLlan6a kBagpaTHas

Llanba

lavika, 2 wr
“ 3kBT 400/230B Incoloy 632200
“ 6kBT 400/230B Incoloy 632201
“ 9kBT 400/230B Incoloy 632202
“ 12xBT 400/230B Incoloy 632203
“ 15kBT 400/230B Incoloy 632204
“ 18kBT1 400/230B Incoloy 632205
“ 3kBT 400/230B Nictech 632210
“ 6kBT 400/230B Nictech 632211
“ 9kBT 400/230B Nictech 632212
“ 12kBT1 400/230B Nictech 632213
“ 15kBT1 400/230B Nictech 632214
“ 18kBT1 400/230B Nictech 632215
B HacTteHHoe kpennenue, 2 Wt 632005

Kpennenus pemuu, 2 wr
c [atyunk noTtoka 12870

KonbLieobpasHoe ynnoTHeHue

VE

D Bunka PVC V2 632206

KonbLieobpasHoe ynnoTHeHue
E Bunka 1/8 632207

KonbLeobpasHoe ynnoTHeHne

Pene paBnenus
F Kunbe 12856

®dacToH, 2 Wt

CoennHutensHas Kopobka B KOMNNEKTE:

CoenuHuTenbHasi kopobka

KabenbHoe ynnoTHeHue, 2 Wt
G Faitka, 2 WT 147010

Habop ans BHYyTpeHHero MoHTaxa

Kpbiwwka

BuHTHI, 2 WT
H TepmocrTar, [Npoknazka, NOBOPOTHbIE PerynsaTopbl yHunonsapHein 0—45°C (cm. Huxe)
“ 3akaHuMBas CepuitHbIM HoMepom 1944XXXX 632002
“ HaunHas ¢ cepuitHoro Homepa 1950XXXX 632009
| Pene 3awutbl oT neperpesa TpexnonspHbin 60°C 632003
J Pene 3awutbl oT neperpesa yHunonspHein 60°C (cm. Huxe)
“ 3aKaHuMBas CEpUIHBIM HOMepoM 1944 XXXX: 632001
@ HaunHas ¢ cepuitHoro Homepa 1950XXXX 632008
K TepmocrTart, [Npoknazka, NOBOPOTHbIE PErYNSATOPbI TPEXNONAPHbIA 6—85°C 632004

Apantep 25"-2” (anemeHT)
L KonbLeobpasHoe ynnoTHeHve 127140

Mpoknagka

RL45-06 2020
3/3




